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NO.2 4.000/  4.000  4.000[ 3.090 2.690| 3.007 2.476 9.904| 1.390 1.105 4.420
NO.2+1.7| 1.7000  1.700 1.700| 3.500 3.100| 3.466 3.237 5.503| 1.710 1.550 2.635
A &t 8.400/  8.400  8.400 21.625 9.836
FRAAUTE AR RAIE FaRs IER
a= 0.500 X 1.118 X 8.40 = 4.70 m2
K A7 AR
A2=  21.63 - 4.70 = 16.93 m2
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FAET B R E

aviY—Fk
18N-8-40
S
8 -5
0, sl
od 450 f00 EERE ATIERERSA=  0.400 m
650 RC-40 HRIEB=  0.450 m
th Rt C= 0.250 m
FHER & D= 0.100 m
FEEEA SR = 0.650 m
IER 8.400 m
10 m4Y
& R oo 3 Y il R % &
0K &
oy 7)—k  [18N-8-40 | ( ( 0.400 + 0.250 ) / 2 X 0.35 1.538 | 8.400 1.292 m?
+ 0.400 X 0.10 ) X 10.0
T e SN ( 0.400 + 0.250 ) X 10.0 6.500 | 8.400 5.460 i
TR RC-40,t=100  0.650 X 10.0 6.500 | 8.400 5.460 m

6.500 X 0.10 0.650 8.400 0.546 m*




Kz 7Y —Fh B A &
5> Vs y—k
18N-8-40
rd

) -

(%

‘ot
SEF 8.400 m

10 m¥%4Y
AR % N o E| % R

ary)—h 18N-8-40 0.350 X 0.175 / 2 X 10.0 0.306 8.400 0.257 m®
pinlp o 7N 0.175 X 10.0 1.750 8.400 1.470 m




15/ ik T HEFHEE
HER IEmEE
300
12] avsy—¢ ]
N= 1
yiiiy il G S H = o =
ENZIEN 18N-8-40 ( 0.727 + 1.009 ) / 2 X 2.820 X 0.30 0.734 m3
e SN ( 0.727 + 1.009 ) / 2 X 2.820 X 2 5.841 m2

+ 2.820 X 1.118 X 0.30
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8= = EEE
avsy—F 00
i18N—B—40
N= 1
yiiiy il G S H = o =
oY — 18N-8-40 ( 0727 + 1.082 ) / 2 X 3525 X 0.30 0.957 m3
T SN ( 0727 + 1.082 ) / 2 X 3.525 X 2 7.559 m2

+ 3.525 X 1.118 X 0.30
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]%%E:llil X2 —F L=B8.4m il EZ‘iKI
Tti;y:l 7“"”‘“51:’“5-5'%’“5“ HavEL)
£ A
E@a22U—b =4
NO.0
EX:) 286 m
R ABC 0.5
TOUF L 22 m
T FiE 0.5 m
14840 & 0.02  m3
EE 320 m
Wria  ( 0.73 + 1.01 Yy /2
X 2.86 = 2.48 m2
EHE ( 2.2 + 0.5 Yy /2 = 1.35 m
V= 2.48 X 1.35 = 3.35 m3
N= 3.35 / 0.02 = 167.50 = 168 4§
A= 320 X 05 + 320 X ( 22 - 05) / 2
= 4.32  m2
NO.3
BELTDS
[ER= 3.56 m
RS ABC 0.5
ENEelyle ) 2.4 m
TVSF T g 0.5 m
14840 1 & 0.02 m3
EE 4.00 m
Wrm  ( 0.73 + 1.08 y /2
X 3.56 = 3.22  m2
EHE ( 2.4 + 0.5 Yy /2 = 1.45 m
V= 3.22 X 1.45 = 4.67 m3
N= 4.67 / 0.02 = 233.50 = 234 4%
A= 400 X 05 + 400 X ( 24 - 05 ) / 2
= 5.80 m2
ait A= 4. 32 + 5. 80 = 10.12 m2
V= 3.35 + 4. 67 = 8.02 m3
N= 168 + 234 = 402 4%
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HEIE IS - UL T etk

Bl o Bk | HAL & Eise” ¢ fi B
RS HUEL T
AIREHUEEL 2275 m 5.6 5.6
a7 — NI ER FiFsT m’ 1.68 1.7




BEMIIRL

= I
R B ATEREEL
ez t= 30 cm
& RIS [y & R3] HfE
NO.0 — 0.6 — — — -
NO.0 +0.300 0.3 0.6 0.60 0.18
NO.1 2.7 0.6 0.60 1.62
NO.2 4.0 0.6 0.60 2.40
NO.3 2.0 0.8 0.70 1.40
& F#t 9.0 5.60
aV9)— R 5.60 X 0.3 = 1.68 M3
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